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Investment Banking
Answer TWO Questions from PART I
Answer TWO Questions from PART II

Only University supplied calculators may be used
PART I (40 marks)

Answer any two questions

Question 1 (20 marks)
At year 0, Company Z issues a bond paying £80 in year 1 and £1080 in year 2. The default risk is zero and the spot rate is 7% for all maturities. At year 1, the spot rates have a 60% chance of dropping to 5% and a 40% chance of increasing to 10%.
i. What is the price of the bond if it is non callable? 
ii. What is the price of the bond if it is callable at the end of year 1, and the call price is £990? 
iii. What coupon should the callable bond have such that its price is equal to that of the non callable bond?
iv. Why do companies issue callable bonds?

Question 2 (20 marks)
The 1-year spot rate on US treasury bonds is 5%, the 2-year spot rate is 5.5% and the 3-year spot rate is 7%. 

i. Calculate the implied 1-year ahead, 1-year forward rate, [image: image2.png]fiz



. Explain why a 1-year forward rate of 8% could not be explained by the market.
ii. Calculate the forward rates [image: image4.png]f23
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. What is the link between [image: image8.png]fiz, f23, faa



?

iii. How can you interpret an upward sloping yield curve?

Question 3  (20 marks)
Two banks can borrow from the corporate sector on the following terms :





Bank A

Bank B

Fixed-rate loans

11.5%


11%

Floating-rate loans

LIBOR+0.75%
LIBOR+0.5%

i. Design a suitable interest rate swap between the two banks. 

ii. What is the maximum size of the swap that can be made between the two banks?

iii. What are the risks involved in swap transactions?

Question 4 (20 marks)
The performance of five portfolios last year was as follows :
	Portfolio
	Return (%)
	Standard deviation of return (%)
	Beta

	A
	25
	10
	1.5

	B
	15
	8
	0.8

	C
	20
	6
	1.1

	D
	19
	7
	0.9

	E
	20
	5
	1.5


The riskless interest rate is 10%, and the return of the market is 19%
i. Rank the portfolios using Sharpe’s measure

ii. Rank the portfolios using Treynor’s measure

iii. Rank the portfolios using Jensen’s measure

iv. With reference to your calculations, how well was portfolio E managed?
v. How can you explain the differences in the ranking of the portfolios?

PART II (60 marks)

Answer any two questions.
Question 5 (30 marks)
How can we explain IPO underpricing and long-term performance?

Question 6 (30 marks)
“Mergers and acquisitions benefit both the acquirer and the target company.” Discuss.

Question 7 (30 marks)
“The underwriting spread is excessively high and uncompetitive.” Discuss.

Question 8 (30 marks)
Discuss the differences between passive and active portfolio management.

�Adding this might prompt more of a discussion and make it a little bit more demanding.
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